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Find the average rate of change of the following functions when x varies from a to b.
(i) y=f(x)=x*+4 a=2b=23
i) y=fx)=x*-4 a=2b=23

i) y=f(x)= x*-8; a=3b=25
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2.

Find out the average rate of change when x change.i cffom atob.
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(1) A = 1t x4, where x is the radius of the s-p-fr'cre; gd=3.D=31

(1) V= %n x3, where x is the radius of the g#‘é'g;e" a=2,b=19
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Ag= R a3, b=3.
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3. The price p in rupees after “t” years is given by p(t) = 3t + t + 1. Find the average
rate of change of inflation from t = 3 to t = 3.5 years.
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4.

A ball 1s thrown vertically up, its height in metres after ¢ seconds 1s given by the
formula h(t) = —16t* + 80t. Find the average velocity when t changes from a to b.

(a) a=2,b=21 (b) a=2,b= 201
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